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20 —x 2 = »(n)
I.Vl(l) » a.”;._,(g)

(1) .,,m.f')] . >]ulr,(2:)+a2x2(2¢)]-a

X1) —Ls x(2r) = )
T
" x(m"f)‘*y(t-r)sincey(r-:)=x(2;_z¢)

15 Lhineal

x(t -~

.:|'?
. Tis time-variant, i.e., it is not fixed,

I.f ﬁfs S:'VSlem - L v I:F.‘_. . -._- - i . A ek % : ': ‘ -.'.-‘"- : _ e gy ~ :.-.
(i) static or dynamic? A ST e, o R ol R 5
t value of the output at n, viz., y(n) depends for its value on future / past values of the input;
when n <0. : '

on future values when 7 > 0 and past values

solution
(i) The presen
Hence the system is dynamic.
| ";t:““‘u:- ‘...1'*' A= __'
S

X () ——=x(2r

(i)

-

[a,x,(n) +azx2{n)] i I %

and
. the system is linear.

— np) since y(n—ny)-

(1i1)
(n=ng)—"—>x(2n=ny) # y(n—np) since
.. the system is time-variant, or is not fixed.

Example 7.6

Solution

4

“ the system is fixed.









